Sl. N regi	No. – site bills ster	112	_		Date Regis	- site ter	bills		28-	01-23
	Company Name:		MRGV		Site:			BRGV		
Nan	ne of Contractor	Dilip	Ranjan	Sw	ain					And a second
Nati	are of work	Cosu	Cutation							
Wor	k done	From Da	ite U	10.	-01-	23	Το Γ	Date	23.	-01-23
SI. No.	Villa/Flat/block no		R	late		Unit	s   A	4тои	nt	Contractors bill no
1.	404, 405, 4	106 6		30	σ	wos		18,	000	
2.				27	5	mag			300	
3.	504, 505, 5			25		mas		12,	rea	
4.	517, 518, 5			35		m	3	4,	200	
5.		2	4	37	5	mag	5	9,	000	
6.									1	
7.									/	
8.										
9.	an a									
10.										
11.	1	otal:						53,		
	required	⊔¥ES .	LNO.		GST	bill re	quire		UYES I	
estir	surement & nate sheet:	□ Requir		ired estimate sheet:		eet:		□ Enclosed		
PO/	WO no.	-	PO/WO date:			te:	-			
Rem	narks: Wrunk (	'omplit	$\bot$ (	Pan	4 - 11	)				
App	Approved by Project Manager Approved by Design Team Approved by M.D.					M.D.				
Date		0-	Date:					Date:		
Sigr	- ao + 1'	Car	Sign:				Sign	:		
	Note A 1997 A 1997 Aug of a malating work 2. This form can be used for a write ing labour bills be									

## Construction division. Advice for giving credit to contractors/suppliers.

Notes 1: This advice this be sont within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for anning to be where guideline rates are clearly given.

SYED GOLDAN CAR

MEASUREMENT S	HEET								
Company Name:	MRGV						Approved by		
Project :	BRGV								
Work Description :	Core Cutting work								
Prepared By:	Sarwar								
Contractor Name:	Dilip RanJan Swain								
Date:	25-01-2023								
			А	В	С	D	E=AXBXCXD	F	G=Sum of E
S.No	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Total Head
1	FLAT NO -								
	404,405,406.417,418.419	5" dia hole for 4" slab	12.00	1.00	1.00	5.00	60.00	No's	60.00
	504,505,506.517,518.519	4" dia hole for 4" slab	12.00	1.00	1.00	3.00	36.00	No's	36.00
		3" dia hole for 4" slab	12.00	1.00	1.00	4.00	48.00	No's	48.00
		4" dia hole for 9" beam	12.00	1.00	1.00	1.00	12.00	No's	12.00
		5" dia hole for 9" beam	12.00	1.00	1.00	2.00	24.00	No's	24.00

ESTIMATE SHEET	•						
Company Name:	MRGV				Approved by		
Project :	BRGV						
Work Description :	Core Cutting work						
Prepared By:	Sarwar						
Contractor Name:	Dilip RanJan Swain						
Date:	25-01-2023						
S NO.	Item Head	Item Description	Quantity	Units	Rate	Amount	<b>Grand Total</b>
1	FLAT NO -						
	404,405,406.417,418.419	5" dia hole for 4" slab	60.00	No's	300.00	18,000.00	
	504,505,506.517,518.519	4" dia hole for 4" slab	36.00	No's	275.00	9,900.00	
		3" dia hole for 4" slab	48.00	No's	250.00	12,000.00	
		4" dia hole for 9" beam	12.00	No's	350.00	4,200.00	
		5" dia hole for 9" beam	24.00	No's	375.00	9,000.00	
					Total	53,100.00	

## Allowance For Equipment Dilip RanJan Swain MUHARPALLY Hyderabad

Date 25-01-2023

In favor of :	MRGV
Project/Site:	BRGV
Location:	MUHARPALLY

Type of Work: Core Cutting work

Towards : Allowance For Equipment

S.No.		Discription	Amount
1	Breif discription of work	done: Towards CORE CUTTING WORK	21,240.00
	Total amount:	53,100.00	

Amount in Word: twenty one thousands two hundred fourty rupees only/-

Sign:

## Labour Charges Dilip RanJan Swain MUHARPALLY Hyderabad

Date 25-01-2023

In favor of :	MRGV
Project/Site:	BRGV
Location:	MUHARPALLY

Type of Work: Core Cutting work

Towards : Labour Charges

S.No.		Discription	Amount
1	Breif discription of work	done: Towards CORE CUTTING WORK	21,240.00
	Total amount:	53,100.00	

Amount in Word: twenty one thousands two hundred fourty rupees only/-

Sign:

## Allowance For Consumables Dilip RanJan Swain MUHARPALLY Hyderabad

Date 25-01-2023

In favor of :	MRGV
Project/Site:	BRGV
Location:	MUHARPALLY

Type of Work: Core Cutting work

Towards : Allowance For Consumables

S.No.		Discription	Amount
1	Breif discription of work	done: Towards CORE CUTTING WORK	10,620.00
	Total amount:	53,100.00	

Amount in Word: Ten thousand six hundred twenty rupees only/-

Sign:\_\_\_\_\_